d’c / d p™ d |y"™ [pb/GeV]

Ratio to ATLAS

T

1072

0.5

13000 GeV pp

tt
| I T I T | T I I I I | 9
— - <
— top . . — g
= pT (ATLAS semileptonic ttbar) 43
| 1=
—
B BN
— — Al
o
—i
—— =k
— —m
- . T 4=
— — o
— .=
L e
- 1
| 1™
o
— - m
- o
(@)
| [ Nep)
—
>
~  m  ATLAS - 3<
— —— Pythia 8.308 default N _ 2
— —-¥-- Pythia 8.308 vincia-default .\’v 15
(&)
B 1w
©
I | o
— o S
| | | | | | | | | | |- =
:l T T T T | T T T T |:
— —2
1
i —4 :
B -_-_-—'_"_"—'-—~-—..___________.Y ]
| —0.5
| 1 1 " 1 1 " | " 1 1 1 1 " |
0 500 1000

ptT'had [GeV], |y in [1.4,2.5]



	Contents
	Page 1


